ST Notueek

Tnemeg by [

* \WArmM "

mar\z;uf\u??'\il PYW\@

g AL wockshedy 2}:%_),',}\_}%%%:%%‘1?
Tnish all zv B
VRO AT

l‘f\
r ' . A
52 ﬁ\‘O sl C@fn\/@f'%w ama(/:f”s Su
w 1.
r<- g 02\

Ahastern: (mikagena o, o gromrelric Servo

A @o,omd'ric, Cor 0o vt~ Forio € di\/orodmo \,6 lr\

4o 04|41, thor e pel 80 (onvergeo fo the sum
(7@ /

zoct = 2=, oticlel
nN=0 (—

>
"'l.



B MATH 251/GRACEY

-4
GLI: l| @& -_-_..!-5 \S\,__:: I‘}‘("’L’L/)- L
S SN 1L _ 2
L 8;%,*9;?;%
=z — 1 7 —
5 o S 3R w
o= -2 o _7 . oo n
4 SS’ % +T§L{; - = 0 Z 2
~ 2. 6raph the first 10 terms of the sequence of partial sums given by —~\ 3
by hand and then check your result using a graphing calculator.
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3. Verify :ha‘r ‘rh: infinite series conver'ges ) *discap\ns
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4. Find the sum of the convergent ser-les @
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5. Write the repeating decimal 0.9as a geomeftric series and write its sum as

the ratio of two integers.

54044 ... = 04 % 0.07+0.009 +0-0009 +--
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6. Determine the convergence or dlvergence of the series.

nr \

To Yes  for divefger

—

. i d‘\/@(%m ‘D&M o term £ a,éhﬁd

dn & =fal -Ann 00 Jim ~nn = - o0 %O

nN—>0
= - Anvno
$3 [ Diveryes by thondh ferm TSt |
“oan J%m davel %@MCQJ
Ry _}2, . And 3 . L @Qn'_’))
> 0 ﬂq, N—R e, C
- )(m @f\%) ; = <&
- R T o 45

s3] wr acew)
\/j}\oog‘; \\\/



%

e. 4, =ne

7. Use the Bounded Monotonic Sequences theorem to show that the sequence
with the given nth ferm converges and use a graphing calculator to graph the
first 10 terms of the sequence and find its limit.
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